



Имя: _____

Дата: _____ Оценка: _____

$$\left(-\frac{1}{2}\right)^0 + \frac{1}{4} =$$

$$\left(\frac{1}{5}\right)^3 - \left(-\frac{1}{6}\right) =$$

$$\left(\frac{3}{5}\right)^3 - \frac{1}{2} =$$

$$\left(\frac{1}{2}\right) + \frac{1}{4} =$$

$$\left(-\frac{1}{5}\right) + \left(-\frac{1}{3}\right) =$$

$$\left(-\frac{3}{5}\right) - \left(-\frac{3}{5}\right) =$$

$$\left(-\frac{1}{6}\right)^2 - \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{2}{5}\right)^0 - \frac{1}{5} =$$

$$\left(-\frac{2}{5}\right) + \left(-\frac{1}{6}\right) =$$

$$\left(\frac{3}{5}\right)^3 + \frac{1}{3} =$$

$$\left(\frac{1}{3}\right)^0 + \frac{3}{5} =$$

$$\left(-\frac{1}{3}\right)^2 + \frac{1}{6} =$$

$$\left(\frac{1}{3}\right)^3 + \left(-\frac{1}{3}\right) =$$

$$\left(-\frac{3}{5}\right)^2 - \frac{3}{4} =$$

$$\left(-\frac{3}{5}\right)^0 - \frac{1}{2} =$$

$$\left(-\frac{1}{2}\right)^0 - \frac{1}{2} =$$

$$\left(-\frac{1}{4}\right)^2 + \frac{1}{2} =$$

$$\left(\frac{3}{4}\right)^0 - \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{1}{2}\right)^0 - \left(-\frac{3}{5}\right) =$$

$$\left(\frac{1}{5}\right)^3 - \frac{3}{4} =$$



Имя: _____

Дата: _____ Оценка: _____

$$\left(-\frac{1}{2}\right)^0 + \frac{1}{4} = \frac{5}{4} = 1\frac{1}{4}$$

$$\left(\frac{1}{5}\right)^3 - \left(-\frac{1}{6}\right) = \frac{131}{750}$$

$$\left(\frac{3}{5}\right)^3 - \frac{1}{2} = \left(-\frac{71}{250}\right)$$

$$\left(\frac{1}{2}\right) + \frac{1}{4} = \frac{3}{4}$$

$$\left(-\frac{1}{5}\right) + \left(-\frac{1}{3}\right) = \left(-\frac{8}{15}\right)$$

$$\left(-\frac{3}{5}\right) - \left(-\frac{3}{5}\right) = 0$$

$$\left(-\frac{1}{6}\right)^2 - \left(-\frac{3}{4}\right) = \frac{7}{9}$$

$$\left(-\frac{2}{5}\right)^0 - \frac{1}{5} = \frac{4}{5}$$

$$\left(-\frac{2}{5}\right) + \left(-\frac{1}{6}\right) = \left(-\frac{17}{30}\right)$$

$$\left(\frac{3}{5}\right)^3 + \frac{1}{3} = \frac{206}{375}$$

$$\left(\frac{1}{3}\right)^0 + \frac{3}{5} = \frac{8}{5} = 1\frac{3}{5}$$

$$\left(-\frac{1}{3}\right)^2 + \frac{1}{6} = \frac{5}{18}$$

$$\left(\frac{1}{3}\right)^3 + \left(-\frac{1}{3}\right) = \left(-\frac{8}{27}\right)$$

$$\left(-\frac{3}{5}\right)^2 - \frac{3}{4} = \left(-\frac{39}{100}\right)$$

$$\left(-\frac{3}{5}\right)^0 - \frac{1}{2} = \frac{1}{2}$$

$$\left(-\frac{1}{2}\right)^0 - \frac{1}{2} = \frac{1}{2}$$

$$\left(-\frac{1}{4}\right)^2 + \frac{1}{2} = \frac{9}{16}$$

$$\left(\frac{3}{4}\right)^0 - \left(-\frac{1}{2}\right) = \frac{3}{2} = 1\frac{1}{2}$$

$$\left(-\frac{1}{2}\right)^0 - \left(-\frac{3}{5}\right) = \frac{8}{5} = 1\frac{3}{5}$$

$$\left(\frac{1}{5}\right)^3 - \frac{3}{4} = \left(-\frac{371}{500}\right)$$